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EW EXERCISES

:L N ‘JD’!’ERS Voter registration records show that of all voters in
€ registered as Republicans. To test whether the nitmbers dialed by a ran-

g device really are random, you use the device to call 150 randomly

chosen residential telephones in Indianapolis. Of the registered voters contanie
are registered Republicans. ,

(a) Is each of the boldface numbers a parameter or a statistic? Give the appm
notation for each.

(b) What are the mean and the standard deviatiorll of the.sample p
tered Republicans in samples of size 150 from Indianapolis?

i ili ini f size 150 from the _1}0.
Find the probability of obtaining an SRS o : c p
glcl)dialigpolis vc?ters in which 73% or more are registered Republicans. How

random digit device working?

tOportionif

9.46 POLLING WOMEN Suppose that 47% of all adult women think they do not get ¢t
ti.me for themselves. An opinion poll interviews 1025 randorr'lly choslen wotln:ﬁ ‘
records the sample proportion who feel they don’t get enough time for themselves:

ple results fall?

at is the probability that the poll gets a sample in which fewer than 45% say
ot get enough time for themselves?

ON INSURANCE The insurance company sees that in the entire population of
ers, the mean loss from fire is 4 = $250 and the standard deviation of the loss
0. The distribution of losses is strongly right-skewed: many policies have $0
a few have large losses. If the company sells 10,000 policies, what is the
ite probability that the average loss will be greater than $260?

ESTS The Wechsler Adult Intelligence Scale (WAIS) is a common “IQ test”
The distribution of WAIS scores for persons over 16 years of age is approxi-
rmal with mean 100 and standard deviation 15.

atis the probability that a randomly chosen individual has a WAIS score of 105
17

tare the mean and standard deviation of the sampling distribution of the aver-
AIS score X for an SRS of 60 people?

your answers to any of (a), (b), or (c) be affected if the distribution of WAIS
the adult population were distinctly nonnormal? £x pkin



